In-Class Real-Time Response Quiz Questions
What is the pattern of inheritance?
[image: ]
A. Autosomal Dominant
B. Autosomal Recessive
C. X-Linked Recessive
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In the pedigree shown below, you are following the X-linked recessive trait of hemophilia. Imagine that in generation IV, one of the affected males shown marries a woman who is a carrier for hemophilia. What is the probability that this couple’s daughter will have hemophilia?
[image: ]
A. 0
B. 0.25
C. 0.5 (Note: The question indicates that the couple are having a daughter, so she has already inherited the hemophilia allele on the X chromosome from her dad)
D. 0.75
E. 1

What is the probability that "?" will be affected?
[image: ]
A. 1/2
B. 1/3 (note that there is a 2/3 probability of the prospective father being heterozygous because you know this person is not affected (coloured in))
C. 1/4
D. 1/6
E. 1/8
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